Conditions

Given three points A=(2, -3, 4), B=(0, 1, 2), and C=(-1, 2, 0) in a 3-D coordinate systems. Find the
area of the triangle with A, B, and C as vertices.

Solution

It’s known, that the area of triangle in R *could be found by using the following formula:
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S= [S1+52+52
N :
where
1|} Ya za 111 =3 4
53.=51 T =51 1 2
1 v =z, 1 2 0
1la 1 oz 12 1 4
5 =5 xp 1 zZp =5 0 1 2
. 1 =z, -1 1 0
1]%a ¥a 1 112 -3 1
53=5 Xp ¥p 1 =5 0 1 1
X Ve 1 -1 2 1

Let’s calculate it

5,=-3
s,=-1
5.=1

S=+4v9+1+1=+11
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